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L.

Consider the following statements ;

Statement-1 ;
The atmosphere is heated more by incoming
golar radiation than by terrestrial radiation.

Statermend Il .

Carbon dioxide and other greenhouse gases in
the stmosphere are good absorbers of long
wive riediation,

Which one of the Rllowing i correct in
respect of the above statements 7

irl Both Statement-] and Statement-II are
eorreet  and  Statement-Il  explains
Statement-1

iby Baoth Statement-I and Stotement-1T are
correct, but  Statement-I1 does  not
explain Statement-1

(cl Statement-] is correct, but Statement-T1
i5 Incorrect

(d} Statement-Iis incorruct, but Statement-T1
i& correct

a. Consider the following statementa ;

Staternend-I ;

Thickness of the troposphere st the equator is

much grester as eompared to poles,

Statemeni-IT ;

At the eqguator, heat is transported to greai

heighta by strong convectional currents.

Which one of the following i3 correct in

respact of the above statements 7

(] Both Statement-1 and Statoement-Il are
eorrect and  Statement-Il  explains
Btatoment-1

(b} Both Statement-I and Statement-II are
correct, but Statement-I1 does not
explain Btatement-1

ic: Statement-1 is correct, but Statement-I1
i5 incorrest

idl Statement-1 iz ineorrect, but Statement-11
i earrot

KSPC-P-GSPO

4.

(3-A)

Consider the following :

1. Pyroclastic debris

2. Ashand dust

3.  Nitrogen compounds
4.  Sulphur eompounds

How many of the sbove are products of
voleanie eruptions 7

tal Only one
(bl Only two
(e}  Only three
idl Al four

Which of the following isfare correct
inferenesfinferences from isothermal maps in
the month of January !

1.  The isotherms deviate to the north over
the ocoan and to the south over the
continent,

2. The presence of cold ocean currents,
Gulf Stream and North Atlantic Drift
make the North Atlantic Ocean colder
and the isotherms bend towards the
narth.

Select the answer using the code given below :
{a}  lonly

bl Zonly

(¢! Bothland 2

{(d}  Neither 1 nor 2

Which of the following countries are well
known as the two largest cocoa producers in
thi world ?

(a} Algeria and Moroeco

(bl Botswana and Mamibin

(e} Cate dlvoire and (Ghana

(d} Madagascar and Mozambigue
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With reference to the Himalayan rivers
joining the Ganga downstream of Prayagraj
from West to East, which one of the following
sequEnoEs is correct T

ia}) Ghaghara - Gomali - Gandak - Koa

(b} Gomati - Ghaghara — Gandak — Kosi
e} Ghaghara - Gomati — Kosi — Gandak

(d) Gomati- Ghaghara - Kosi — Gandak

Consider the follvwing statements

Blatement-1 ;

Rainfall iz one of the reasons for weathering
of mieks.

Statement-1I :

Rain water contains carbon diexide in

snlution.

Seaternent-IIT ;

Rain water contains atmospheric oxygen.

Which on# of the following is correct in

respict of the above statements 7

ia) Both Statement-1l and Statement-1T1
arg correct and both of them explain
Stntement-|

(b} Both Statement-11 and Siatement-111
are correct, but only one of them
explning Statement-1

e} Only one of the Statements 1T and 111 is
correct and that explains Statement-|

idi Neither Statement-I1 nor Statement-111

is eorrect
Comeider the following countries
1. PFinland
2 Crermany
a3 MNorway
4 Russia

How many of the above countries have a
border with the North Sea ?

fal  Only one
by  Ounly two
icd  Only three
) Al four
KSPC-P-GEPC

Consider the following indormation

Warterfall \Region | River
1. |Dhuandbar |[Malwa |[Narmada
2. |Hundru Chota Subarnarekha
Nagpur
3, | Gersoppa Western | Netravati
Ghats

In how many of the above rows is the given
information correctly matched 7

tal Only one

ib)  Only two

fer  All thres

idi Mone

Consider the following information :

Region  |Nameofthe | Type of
mountain maonnioin
range

1. |Céntral | Vosges Fald mountain

Asin

2. |Europe  |Alps Block
miruntiein
13, |Narth  |Appalachians |Fold mountain
iﬂmerim
4. |South Andes Fold mountain
Amorica

(5-A)

In hew many of the above rows is the given

information correctly matched 7
fal Only ona

(b}  Only two

fe}  Only threes

idy  All four
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11. Consider the following airports :
1. Donvi Polo Airport
2,  Kushinagar International Airport
3. Vijayawada Internstional Airport
In the recent past, which of the sbove have
been constructed as Greenfiald projects 7
{a} 1and2only
(by 2and 3 only
el 1and 3only
fdi 1. 2and3
12. With reference to "water vapour”, which of the
following statements is/are correct ?
1. It is & gas, the amount of which
decreases with altitude.
2. lis percentage is maximum at the poles,
Select the answer using the code given below :
(nj 1only
(b} 2only
(¥ Both1and2
{d) Neither 1 nor2
1. Consider the following description :
1.  Annual and daily range of temperatures
is Tow,
2. Precipitation ocours throughout the year.
3. Precipitation varies betwean
60 em - 250 em.
What is this type of climate ?
iny Eguatorial climate
(b)) China type climate
(¢}  Humid gubtropical climate
{d) Marine West coast climate
KSPC-P-GSPO (2=

14,

15.

16.

Al

With reference to "Corinlis force”, which of the

following statements is‘are correct 7

1. It incresses with increase in wind velocity.

2, It is maximum st the poles and is absent
at the equator.

Seleet the answer using the code given below :
1 only

2 anly

Both 1 and 2

Meither 1 nor 2

il
b}
te)
(d)

On June 21 every vear, which of the following
latitude(s) experiencels) a sunlight of more
than 12 hours 7

Equator

Tropic of Cancer
Tropic of Capricarn
Arclic Circle

Select the corriet answer using the code given
el

(o} 1only
(b} Z2only
ic} Jdandd
idi Zand4

A

One of the following regions has the world's
largest tropical peatland, which holde about
three years worth of global carbon emizsions
from fossil fuels; and the possible destruction
of which can exert detrimental effect on the
global climate. Which one of the following
denotes that region ?

fal Amazon Basin

(b} Congo Bagin

e} Kikori Basin

idl HRiodela Plata Basin
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17. With reference to perfluorcalkyl and
pelyflucroalkyl substances (PFAS) that are
aped in making many consumer products,
conaider the following statements :

1. PFAS are found to be widespread in
drinking water, food and food packaging
materials,

2.  PFAS are not easily degraded in the
gnvironment.

3.  Persistent exposure to PFAS can lead to
bioaccumulation in animal bodies,

Which of the statements given above are

correct ?

{a] 1land2only

(b} 2and3only

fe} 1and 3 only

(dl 1,2and3

18. Consider the following :

1 Carabid beetles

2 Centipedes

3. Flies

4 Tarmites

B Wasps

Parasitoid species are found in how many of

the above kind of organisms 7

ia} Only two

bl Omly three

{e) Only four

(dy Al five

KSPC-P-GERPD

(8-A)

19. Consider the following plants :

1. Crroundnut

2. Horee-gram
3. Boybean

How many of the above belong to the pea
family ?

{a) Onlyone

)  Only two

ic) Al thres

dy None

Consider the following statements
Statement-1 :

The Indian Flying Fox is placed onder the
“vermin®~ category in the Wild Life
{Protection) Act, 1972,

Statement-IT ;

The Indian Flying Fox feeds on tho blood of
other ammals,

Which one of the following is correct in
respect of the above stalements ?

ia) Both Statement-1 and Statement-11 are
Statement-II  explains

correct and

Statement-]

{bl Both Statemeni-1 and Statement-11 are
correct, but  Statement-I1  does  mnot
explain Statement-T

i¢) Statement-] is correct, but Statement-II
18 imcorrect

id) Statement-1 is incorrect, bit Statement-11
is eorrect
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The organisms “Cicoada, Froghopper and Pond
slater” are :

{n] Birds
(b} Fish

(e} Insects
(dl HReptiles

Consider the following statements .

Sratement-T ;

Many chewing gumi found in the market are
congidered a source of environmental
pollution.

Steternent-IT :
Many chewing gums eontain plastic as gum
base.

Which one of the following i3 correct in

respect of the above statements 7

in} Both Statemeni-1 and Statement-I1 are
orrect  and  Statement-11  explains
Statement-1

(b} Both Statement-l and Statement-1l are
correct, but Statement-11 does not explain
Statement-]

(e} Statement-1 is correct, but Statement-11 is
incorrect

{d) Statement-I is incorrect, but Statement-11

15 cormect
Consider the following pairs
Animal foiind in its
Cuganty miuruiﬂlbm
1. |Brazil Indr
2. | Indonesia Elk
3. | Madagascar Banaba

How many of the pairs given above are
correctly matched 7

(g} Only one
(b} Only two
ie}  All three
(d} MNone

(11-A)

24. (Consider the following statements regarding

World Toilet Organization ;
1. It iz one of the agencieg of the United

Mations.

2. World Toilet Summit, World Toilet Day
and World Toilet College are the
imtiatives of this organization, to
inspire action o tockle the global
sanitation crisis.

3. The main foruas of its function is to grant
furds to the least developed countries
and developing countries o achieve the
end of open defecation.

Which of the statements given above sfare
correct 7

fa} Z2only

(bl 3only

fe) land2

{dl 2and3

Consider the following statements ;

1. Lions do not have & particular bresding
sanson,

2.  Unlike most other big cats, cheetahs do
not roar,

3, Unlike male lions, male leopards do not
proclaim  their lerritory by scent
marking.

Which of the statements given above are

correct 7

(g} T1and2only

by Zand 3 only
{e} 1and3only
(dy 1,2and3



KSPC-P-GSFO

26, el & & W “100 e e

w1 1 faao o

(a) ¥ F2I (FEA), THAAEREE we
il L R e
w6 & fom ow v # Fraw osg femei
&1 TeaaEm § gz wa g

(b =5 I qyEEr § w5 AgEm 33
TE W R A el ot g
A W UE ek s ow sl
T R

(c) W8 us Biea cesd 2 A i vm @
B WA S AW wEER R odn
w=iw 29 w B 2, 5w, e
AR et sl = 3w o g =0 A
FHE = =R F4 6 g wmE
B

(d) W v T} P o e W g
T WA WY SNsEEE JY e90
% fom wenfen won #, el o o
e W AR & f A w@ wan
A uits w6 e foed f

27, Fr=fofas w fram S

1. =S e
2, WHEMEHE T
3, T Ea

4. ww2f dh s A 1

I § 2 et “Faafm 3t g o
&

ia) FET TH

(b e

(e) Fa9 AR

dy it Wm

(12-A)

98, Freafafien # % ¥ 3w, o @ fe &

T A ww W aim # 5w ge %
mimtm gt s m A w
g i wrfm w0 wem & 1

(n) AR

thy HEHT

() =

iy Hme (flew wie)

. Frafafas @ faaw $ifw

N

2, W

3. TEE (HEw)

T | # freat § T anfie # o
in) FFF TE

(hy R A

(e} i o=

(d) wré 7

ﬁﬂﬁ-‘fﬁ'ﬂﬂhﬁm

L &N

2. v

3. T =

FvfE 1 2 e 99 T | v & i g
g7

(a) THE TH

(b) et 2

()t g

(d) e



80, Which one of the following is the correct
deseription of *100 Million Farmers" 7

()

{b)

{el

id)

It is a platform for aceelernting the
transition towards food and water
systems that are net-zero (carbon),
nature-positive and that aims to
It is an internstional alliance and a
network of individuals and farming
organisations interested in supporting
and strengthening the development of
the organic animal hushandry.

It is a digital platform fully integrated
with service providers and built on
blockchain that lets buyers, sellers and
third parties trade fertilizers quickly
and securely,

It ia a platform with the mission of
encouraging the farmers to form Farmer
Produet Organisations or Agribnsiness
Consortiums, thus facilitating the
access to global open markets to sell
their products.

27. Consider the fallowing :

L

o

Battery storage

Biomass generators

Fuel cells

Roaftaep sclar photovoltaic units

How many of the above are considered
“Distributed Energy Resources™ 7

(a)
(b
(el
(d)

KSPC-P-GSPO

Oaly one
Only two
Only three
All four

8.

an.

[(13-A)

Which one of the following shows a unique
relationship with an insect that has coavolved
with it and that is the only insect that can
pollinate this tres ?

(a) Fig
{b) Mahosa
(g} Sandabsood

id] Rilkcotton

Consider the following :
1.  Butterflies

2. Fish

3.  Frogs

How many of the above have poisonous
species among them ¥

ia) Only one
{by Only two
(el All three
(d} None

Consider the following :
1. Cashew

2. Papaya

=..I. Red sanders

How many of the above trees are actually
niative to Indiz ?

(]  Oaly one
(hy  Only tero
{e}  All three
id) None
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With reference to radivisctope thermoelectric | 33,
generators (RTGs), consider the following
gtatements :
1. RT(s are ministure fission reactors.
2.  RTGs are used for powering the onboard
gystems of spacecrafls,
3. RTGs can use Plutoniom-238, which is
4 by-product of weapons development.
Which of the statements given above are
corroet T 3.
fal 1 und 2 only
(b} 2and 3only
e} 1 and 3 only
id) 1,2and3
Congider the following statements :
Statement-I
(iant stars live moch longer than dwarf stars.
Statement-IT :
Compared to dwarf stars, ginnt stars have &
groater rate of nuclear reactions.
Which ope of the following is correct in
ragpoct of the above statements 7 35.
{a] Both Statement-l and Statement-1l are
correct  and  Statement-T1  explains
Statement-I
ib} Both Statement-l1 and Statement-I1 are
correct, but Statement-I1 does mot
explain Statement-1
(¢) Statement-1 is correct, but Statement-I1
18 incorrect
idl Statement-1 i3 incorrect, but Statement-11
i porrect
KSPC-P-GSPOD (15=~A)

Which one of the following is synthesised in
human body that dilates blomd vessels and
increases blood flow ?

ta) Mitne oxide

by Nitrous oxide

le) Nitrogen dioxide
(d} Nitrogen pentoxide

Consider the following sctivities :

1.  Identification of narcotica on passengers
at airports or in aireraft

2. Monitering of precipitation
3.  Tracking the migration of animals

In how many of the above setivities can the
radars be used ¥

a) Only one

(bl Only two

ie)  All three

{d} None

Conzider the following aircraft
1. Rafael

2. MiG29

3. Tejas MEK-1

Heow many of the above are considered fifth
generation fighter aircraft 7

fal Onlyone

(b} COmly two

(e} All throo

idl None
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In which of the following are hydrogels used 7 | 41.
1.  Contrelled drug delivery in patients
2 Mobile air-conditioning systems
3. Preparation of industrial lubricants
Select the correct answer using the code given
helow :
inl Tonly
ibi  1and 2 only
{ct 2 and 3 only
idd 1,2and3
Which one of the following is the exhaust pipe
emission from Fuel Cell Electric Vehicles,
powered by hydrogen 7
&) Hydrogen peroxide
ik} Hydromium
fet  Oxygen
(d) Water vapour 4.
Recently, the term  “pumped-storage
hydropower” is sctually and appropriately
discussed in the context of which one of the
following 7
{a) Irrigation of terroced erop tiekds
{b)  Lift irrigation of cereal crops
(e}  Long duration enargy storage
id} Rainwater harvesting system
“Membrane Bioreactors” are often discussed
in the context of ;
{a)  Assisted reproductive technologies
()  Drug delivery nanotechnologies
{e)  Vaccine production technologies
(d) Wastewnter treatment technologies
With reference to the Indian economy,
“Collateral Borrowing and  Lending
Obligations™ are the instruments of :
{a} Bondmarket
{b) Forex mariet
(el Money market
{dr Stock market

(1T =A)

The total fertility rate in an economy is
defined as :

the number of children born per 100K
people in the popalation n a year.

(gl

(b} the number of children born to a couple
in their lifetime in a given population,

(e} the birth rate minus death rate.

{dl the average number of live birthe a
woman would have by the end of her

child-bearing age.

Consider the following statements :

1. In India, MNon-Banking Financial
Companies can access the Liguidity
Adjustment Faality window of the
Reserve Bank of Indin.

2 In India, Foregn Institutional Investors

carn hold the Government Securities
[G-Secs).

4. In India, Stock Exchonges can offer
separate trading platferms for debts.

Which of the stutementis given above imfare
porrect T

ia) 1and2only
(b} 3 only

e} 1L, 2and3
(d) 2 and 3 enly
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43 In India, which of the following can trade in

Corporate Bonde and Government Securities ¥
E Insurance Compsnies

2, Pension Funds

3.  Hetail Investors

Sulect the correct answer uging the code given
bredomw

(a) 1and2only
(b) 2and3only
(el 1and3only

(d} 1,2and3

Censider the following :
1. Exchange-Traded Funds (ETF)
2.  Motor vehicles
3.  Currency swap

Which of the above is/nre considered financial
ingtruments ?

ia) 1 only
(b} 2and 3 only
el 1,2andd

(d) 1and3only

45.

A8,

(18-A]

With reference to the sectors of the Indian

economy, consider the following pais :

| | Beonomie aotivity Sector !

1 Storage of agricultural Secondary
producs

2, | Dairy farm | Primary

3. | Mineral exploration Tertiary

4. Weaving cloth Sacondary

How many of the pairs given sbove are
correctly matched 7

(a) Onlyone
ib)  Only two
Only three
All four

fiel
id)

Consider the following materials :
1.  Agricultural residues

2.  Corn grain

2. Wastewster treatment sludge
4.  Wood mill wasta

Which of the above can be used as feedstock

far producing Sustainable Aviation Fuel 7
(al 1and 2 only
ib} 3 and 4 only
fe) 1,2, 3and 4

idi 1,3 and 4 only
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47. With reference to physical capital in Indian

economy, tonsider the following pairs ©
ltems Category
L. |Farmer's plough Working capital
2, |Computar Fixed capital
3. |Yarnused by the | Fixed capital
WEAVeTr

4. |Petrol Working capital
How many of the above pairs are correctly
matched ?
{a) Only one
(k)  Only two
ic) Only three
id) All four

48, Which one of the following words‘phrases is
most appropriately used to denote “an
interopornble network of 30 virtual worlds
that can be accessed simultuneously by
millions of users, who can exert property
rights over virtual items” ?
(a] Bigdata analytics
(b} Cryptography
e} Metavense
(dl Wirtual matrix

KSPC-P-GSPO

(21-A)

49, With reference to the rulefrules imposed by

the Reserve Bank of India while treating

foreign banks, consider the following
gtatements
1. There i no minimum capital

requirement for wholly owned banking
gubsidiares in India,

2, For wholly owned banking subsidiaries
in India, ot least 60% of the board
members should be Indian nationale,

Which of the statementa given above isfore

correct 7
{al 1only
(h) 2 only

i) Bothland2
id) Meither 1 nor 2

With  reference to  Corporate  Social
Responsibility (CSR) rules in India, consider
the following statements :

1. CEBR rules specify that expenditures
that benefit the company directly or its
employees will not be considered as CSR
netivition,

2. SR rules do not specify minimum
spending on CSR activities,

Which of the statements given above isfare
correct T

{al 1only

i) 2only

{e} Bothland2
idd Meither 1 nor2
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Bl. Consider the following statements :

Hiterneni-I

If thie Unitod States of America (TSA) were to
default on ite debt, holders of TJ8 Treasury
Bands will not be able to exercise their claims
to receive payment.

Statement-I7 :
The 11SA Government debt is not backed by
any hard assets, but only by the faith of the
Goweernimisnt.

Which one of the following is correct in
respect of the above statements 7

g} Roth Staterment-1 and Statement-II are
porrect  and  Statement-II  explains
Statement-1

{b) Both Statement-1 wnd Statement-I1 are
correct, but Statement-11 does not explain
Statement-]

i¢) Statement-1 is correct, but Statement-11 is
inenrrect
id) Statement-1 is incorrect, but Statement-11

is cormect

Consider the following statements :

Bratement-I

Syndicated lending spreads the risk of
borrower default across multiple lenders.

Biatement-II

The i loann can be & fixed
amountlump sum of funds, but cannct be a
credit line.

Which one of the following is correct In
respect of the above statements 7

{a) Bath Statement-l and Statement-Il are
correct and  Statement-Il  explains
Statement-I

(b} Both Statement-l and Statement-Il are
correct, but  Statement-II  does  mot
explain Statement-1

{¢) Statement-1 is correct, but Statement-11
is incorrect

(d} Statemeont-1is incorrect, but Statement-I1
is correct

1 Fi

(23-A)

Consider the following statements in respect

of the digital rapee

1. It 5 & sovereign currency issued by the
Resérve Bank of India (RBI) in
alignment with its monetary policy.

2 It appears as a liability on the EBI's
halanee shset.

3. It is insured against inflation by its very
design.

4. It i freely convertible against
commergial bank money and eash.
Which of the statements miven above are

correct ?

ta) 1and2only
(b} 1and3only
(e 2and 4only
(di 1,2 and4

With reference to ancient India, Gautams
Buddha was generally known by which of the
following epithets ?

1.  Nayaputta
2, Bhakyvamumni
3. Tathagata

Select the currect answer using the code given
below 1

fa) 1 only

b} 2 and 3 only

el 1,2and3

id) MNone of the above are epithets of

Gautama Buddha
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55. Conaider the following information : 57.
Archaeological State Diescription
Site
.| Chandraketugarh | Odisha Trading
Fort town
[namgnon Maharashtra Chaleolithi
site
Mangadu Kerala Megalithie
sibe
A Balihundam Andhra Rock-cut
Pradesh CEVE
ghrines
In which of the above rows is the given
information correctly matehed ?
fa) Tand?2
ihi 2and3
(et Jand4
idi 1andd 38.
Wh of the following rulers of medieval India
gave permission to the FPortuguese to build a
fort at Bhatkal ?
{a) KErishnadevarays
by MNarasimha Saluva
ie) Muhammad Shah 111
id)  Yusuf Adil Shah
KS5PC-P-GSPO [ 28—A)

With reference to revenuve collection by
Cornwallig, consider the following
statements ©

1 Under the Ryotwari Settlement of
revenué collection, the peasants were
eoompted from revenue payment in case
of bad harvests or natural calamities.

2. Under the Permanent Setflement in
Bengal, if the Zamindar failed to pay his
rovonuse to the state, on or befors the
fixed date, he would be removed from

Which of the statements given above isfare

correct T

1 only

2 only

(@l
51}
f¢) Bothland?2

fd) MNeither 1 nor 2

Consider the following atatements :
1.  There are no parabies in Upanishads.

2.  Upanishads were composed earlier than
the Puranas.

Which of the statements given above wfare
correct ?

tal lonly

b} Zonly

te) Both 1and 2
id) Neither 1 nor 2
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§9. Consider the following statements :

B0,

KSPC-P-GSPO

1. Indin is & member of the International

Grains Couneil.

2, A country needa to be a member of the
International Grains Council for
exporting or importing rice and wheat.

Which of the statements given above is/are
correct 7

ial lonly
(bl  Zonly
el Both 1 and 2

{dl Neither 1 nor 2

Which one of the following was the latest
inclusion in the Intangible Cultural Heritage
Lagt of ITNESCO Y

(ad Chhau dnnee
by Durga puja
{e)  Garba dance

(d} Kumbh mela

61.

(27 -A)

Who was the Provisional President of the
Constituent Assembly before Dr. Rajendra
Prasad took over ?

ia} . Rajagopalachari

ik}  Dr. B.R. Ambedkar

ey T.T. Krishnamachan

id) Dr. Sachchidananda Sinha

With reference to the Government of Imdia
Act, 1935, consider the following statements ;

1. It provided for the establishment of an
All India Federation based on the union
af the British Indian Provinces and

3. Defence and Foreign Affairs were kept
under the control of the foderal
legislature,

Which of the statements given above isfare
correct T

(a) 1only

(bY 2 only

(e} Both land 2

(d) Neither 1nor2

Which one of the following iz a work
attributed to playwright Bhasa 7

{a) Kouyalonharo

th) MNapyoshasire

(e}  Madhvama-vyayega

(dl Mahaobhashya

Sanghabhuti, &n Indian Buddhist monk, who
travelled to China at the end of the
fourth century AD, waz the author of a

commentery on

{al Prajnaparamita Sutra
iy Visuddhimogge

i)  Sarvastivada Vinava
id) Lalitavistara
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Consider the following properties included
in the World Heritage List released by
UNESCO -

1.  Shantiniketan
2. Rani-ki-Vav
3.  Sacred Ensembles of the Hoysalas

3 Mahabodhi
Bodhgaya

How many of the above properties were
included in 2023 7

Temple Complex at

{a) Omly one
bl Only two
ic}  Only three
idy Al four

As per Article 368 of the Constitution of India,
the Parliament may amend any provision of

the Constitution by way of :
1.  Addition

2. Variation

3. Repeal

Select the correct answer using the code given
balow :

ta} 1 and2only
ibl 2 and 3only
fer 1 and 3only

dl 1,Zand3

(20 A)

Congider the following countries |

1. [ltaly

2 Japan

3.  Nigeria

4 South Korea
5 South Africa

Which of the above countries are frequently
mentioned in the media for their low birth
rates, or ageing population or declining
population 7

(a) L2andd
ib} Ldand5
ie} 2 and4 only
id) 3 andb only

Which of the following statements are correct
in reapect of a Money Bill in the Parliament 7

1.  Article 109 mentions spedial procedurs:
in respect of Money Bills,

2 A Money Bill shall not be introduced in
the Council of Btates,

8. The Rajya Sabha can either approve the

Bill er suggest chonges but ennnot reject
it.

4, Amendments to a Money Bill suggested
by the Rajya Sabha have to be accepted
by the Lok Sabha.

Select the answer using the code given below ;
{al 1 asnd2only

(b} 2 mnd 3 anly

(e} 1,2and3

idy 1,3 and4
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B8 Which of the fullowing isfare oormectly

matched in terms of equivalent rank in the
thres sarvices of Indian Defence forees 7

1. | Brigadier |Air Commander
Commaodore
2. | Major Adr Vice Vice Admiral
General Marshal
3. | Major Stquadron | Lisutenant
Leader Commander
4. | Lioutenant |Group Captain
|Colonal | Captain

Select the correct anewer using the code given
below :

{a) landd
(b} land3
(¢ 2 3andd
{d) 3only

The North Easterm Council (NEC) was

established by the North Eastern Counecil Act,

1871, Subsequent to the amendment of NEC

Art in 3002, the Council comprises which of

the fullowing membears 7

1. Covernor of the Conatituent State

2, Chief Minister of the Constituent State

3. Three Members to be nominated by the
President of India

4,  The Home Minister of India

Salect the correct answer using the code given
below

(al 1, Z2and3only
(b} 1, 3anddonly
{e) 2and 4 only
d) 12 3and4
KSPC-P-GSPO

Tl

{31 =A}

How many Delimitation Commissions have
been constituted by the Government of Indis
till December 2033 7

in} One

by - Two

(e} Thres

(dy Four

The Constitution (71%* Amendment) Act, 1992
amends the FEighth Schedule to the
Constitution to include which of the fallowing

languages 7

1.  Konkani
2.  Manipun
3. Nepali
4. Maithili

Salect the correct answer using the code given
belomr :

fal 1,2and3

b} 1,2and4

e} L 3andd

(dr 2, 3andd

Congider the following pairs :
| [|Party Itz Leader
| 1. |Bharativa Jana  |Dir. Shyvama Prasad
| |Sangh Mukherjes

2. |Socialist Party  |C. Rajagopalachari
3. | Congress for Jagjivan Bam
Democracy
4, |Swatantra Party |Acharys Narendrn
Dev

How many of the agbove are correctly
matched T

ia) Only one
(b} Omnly two
(el Only three
(dy Al four
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74. Which of the following statementa are correct | T7.

about the Constitation of India 7

1. Powers of the Municipalities are given
in Part IX A of the Constitution.,

2, Emergency provisions are given in
Part XVIII of the Constitution,

3. Provisions related to the amendment of
the Censtitution are given in Part XX of
the Constitution,

Bolect the answer using the code given below :

(g} 1and2omly

ik} 2and3 only

{ey 1and3 only

(d} 1,Zand3d

75. Which one of the following statements is
correct as per the Constitution of India ?

(g} Inter-State trade and commerce i &
State subject under the State List.

ib} Inter-State migration i= a State subject
under the State List.

fe} Inter-Stete guarantine 5 a Union
subject under the Union List. 8,

id) Corporation tax is a State subhject under
the State List.

78. Under which of the fallowing Articles of the

Congtitution of India, has the Supreme Court

of India placed the Right to Privacy 7

(a) Articls 15

(b)  Article 16

(e)  Article 19

(d) Article 21

K3PC-P-GSPO [33-A)

What are the duties of the Chisf of Defence
Staff (CDS) as Head of the Department of
Military Affairs 7

1. Parmanent Chairman of Chiefs of Staff
Committes

2 Exercise military command over the
thres Sarvice Chiefls

3. Principal Military Advisor to Defence
Minister on all tri-service matters

Select the correct answer using the code given
below :

ia} 1,Zand3

{h) 1and2only
{¢) 2and3only
(d} 1and3 only

Operations undertaken by the Army towards
upliftment of the local population in remote
areas to include addressing of their basic
needs s ealled :

im} Operation Sankalp
(b Operation Maitr
(¢} Operation Sadbhavana

id) Operation Madad



7. B A A @ 3 % v meR ow d | s S o G sfufe’ $ gew & feefafae
fstferfian & & s g 2 0 Fu T faaw S .

1 3 IgEy 184 S 5w & T B
2. ofafm o9 % e w15 9 & fw

(a)  SATEl i HgE U

by Faeht o ¥ o T |

3. yon agles St & Fmoswfim Wi
fom Tt % e 6 vy ¥

(d) TR 3 e SEte 2
T F 0 A WA it # o
fa) 1,233
(b) W 13 2

80. =% Fw 4 wEw W & w1, et (e} e 2 g

Lo SRR v A | B v o Rt e R

2, HaE FE S A W e @ e o W W e o §
Y e % sl ameRm @ i L W W S aTeem F oA Hgw A
PorrTa w1 oo B SR T |

3. g giufy @ 08 oo w GEn i = i i sl

P S 3. wmwaEe-AOd wEE ® e ggw
fetsran 0 arfiam 1 U oy o1 |
7 fom m F= = WA = I A 4. AEdE TEE o oaam W ouw fen
ot
(n) SHaw] N2 19 R T 5 ST T AR
by Wamz siha (@) 1,233
b 1,234
) waE1 3ha
e} 1,8 3M4
{dy 1,23¥Mms d) 2,834

KSPC-P-GSPO (34-A)



8. The longest border betwesn any two countries | B1.
in the world is between :
{fa) Cinada and the United States of
America
(b} Chile and Argentina
(e} Ching and Indis
(d) Kagakhstan and Russian Federation
B, Which of the following statements about the
Ethica Committes in the Lok Sabha are
correct ?
1 Initially it was an ad-hoe Committes.
B2.
2 Only 8 Member of the Lok Sabha can
maks a complaint relating to onethical
conduet of a2 member of the Lok Sabha
3 Thiz Commities connot take op any
matter which iz sub-judice,
Select the answer using the code given below :
ia) 1andZonly
(b} 2 and 3 only
(e} 1 mnd 3 only
(d) 1,2and3
KSPC-P-GSPO [35-A)

Consider the following statements regarding

‘Mari Shakti Vandan Adhiniyam'

L. Provizgions will come into effect from the
15" Lok Sabha,

B This will be in force for 16 years after
becoming an Act.

3. There are provisions for the reservation
of seats for Scheduled Castes Women

within the quota reserved for the
Scheduled Castes.
Which of the statementa given above are
correct ¥

fa) 1,2and3

(b} 1 and 2 only
e} Zand3only
id} 1and3only

Which of the following statements abouat

Exercise Mitra Shakti-2023" are correct 7

1. This was a8 joint military exercise
between India and Bangladesh,

2, It commenced in Aundh (Punej,

3 Jaint response during coumter-terrorism
operations was & goal of this operation.

4, Indian Air Force wag & part of this
EXercise.

Belect the answer uging the code given below :
m} 1, Zand3
b}y 1,2and4d
ie) 1,3and4

idd 2, 3and4
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B3. A Writ of Prohibition is an order issued by the | 85,  With reference to Union Budget, consider the

Suprems Court or High Courts to following statements :
1. The Union Finance Minister on behalf of
fal a government officer prohibiting him the Prime Minister lays 'héhumﬂﬂﬂﬁ
Poia Lk g & gt S, Fhmi:ipfrmn: before
2, At the Union level, no demand for a grant
(bl  the Parlinment/Legialative Assembly to can bo made except on the
pass a law on Prohibition, recommendation of the President of India.
Which of the statements given above isfare
{e) the lower court prohibiting continuation porrect ?
of proceedings in a case, ia} 1anly
ih}y 2 anly
{d} the Government prohibiting it Ffrom ic} Both 1 and 2
following an unconstitutional policy. {d) Meither 1 nor 2

B8, Who of the fbllowing is the author of the books
“Thir ndiac Way™ and "Why Bhorer Matters™ ¥
{n) Bhupender Yadav
{b) Nalin Mohta
te)  Shashi Tharoor
{d] Bubrahmanyam Jaishankar

B4, Consider the following statements :

1. It iz the Governor of the State who
recognizes and declares any community

of that State a8 a Scheduled Tribe. 87. Consider the following pairs :
Country Renson for being in the
2. A community declared as a Scheduled REws
Tribe in o State noed not be so in 1. |Argentina Worst econgmic crisis
another State.
9 |Sudan War between the country’s
ﬁ:f the statements given above islnre Eﬂmlm?ﬁi
3. |Turkey | Rescinded its membership
) Lanly of NATO
How manv of the paires given above are
(bt 2only correctly matched 7
(a)  Omly one pair
e} Bothland2 ) Only two paira
(e} All three pairs
id} MNesther 1 nor 2 (d} MNone of the pairs

KSPC-P-GSPO (37 =A)
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88. Consider the following statements :

Siaternent-l -

Sumead pipeline is 4 strategie rcoute  for
Persian Gulf oil and natural gas shipmenta to
Burops.

Sigtemeni-IT ;
Sumed pipeline connects the Red Sea with
the Mediterranesn Sed,

Which one of the fllowing & eorrect in
reapect of the above statements 7

ia} Both Statement-I and Siatement-11 are
correct  and  Statement-Il  explains
Statement-1

(b)Y Both Statement-1 and Siatement-IT are

correct, but Statement-I1 does ol
explain Statement-1

(e} Statement-I iz correct, but Statement-TI
{6 incorrect

{d) Statement-l is incorrect, but Statement-11
i# eorrect

Congider the following statements :

1 The Red Sea receives wery little
precipitation in any form,

L Mo water enters the Red Sea from
FIVErs,

Which of the statements given above is/are
correct 7

{a)  1only
(b} Zonly
(e} HBoth 1and 2

{di  Neither | nor 2

According w the Environmental Protection
Agency (EFA), which one of the following is
the largest scurce of sulphur dioxide
emissions 7

(g} Locomotives using fossil fusls

(b}  Ships using fossil fuels

(¢} Extraction of metals from ores

id} Power plants using fossil fuels

gl.

(30-A)

Caengider the following statements

Staterment-I ;
There is instability and worsening security
gituation in the Sahsl region.

Statermeni-II :

There have been military takeovers/coups
d'état in several countries of the Sahel region
in the recent past.

Which one of the following s correct in
respect of the above statements ?

(a) Both Btatement-1 and Statement-11 are
correct  and Statement-11  explains
Statement-]

by Both Statement-1 and Statement-I1 are
eorrect, but  Statementi-Il  does  nod
explain Statement-]

i¢] Statement-] is correct, but Statement-11
18 incorrect

iy Statement-1 is incorrect, but Statement-T1
I eorrect

Consider the following statements

Staterment-I ;
India does not import apples from the United
Stutes of America.

Steternent-II

In Indin, the law prohibits the import of
Gonetically Modified food withoot the
approval of the competent authority.
Which one of the fbllowing = correct in
respect of the ahove statements ?

[a) Both Statement-l and Statement-1T are

correct  and  Statement-I1  explains
Statement-]

(bl Both Statement-1 and Statement-1I are
correct, but Statement-11 does net explion
Statement-1

(e] Statement-1 iz correct, but Statemant-11 i=
incormect

id) Statement-I is incorrect, but Statement-11
18 porrect
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03, With reference to the Speaker of the

Lok Sabha, consider the following statements :

While any resolution for the removal of the
Speaker of the lok Sabha iz under
considerntion

1. HefShe zhall not preside.

2.  He/She shall not have the right to speak.

3. HeShe shall not be entitled to vote on
the resolution in the first instance.

Which of the statements given above isfare
porrect 7

(a) 1lonly

(b) 1 and 2only
(e} 2and3only
idy 1,2and3

With reference to the Indian Parliament,
consider the fallowing statements

1. A bill pending in the Lok Saubha lapses
on its dissalution,

2. A bill passed by the Lok Sebha and
pending in the Rajya Sabha lapses on
the dissolution af the Lok Sahha.

3. A bill in regard to which the President
of Indin notified hisher intention to
summon the Houses to-a joint sithing
lapses on the dissolution of the
Lok Sabha.

Which of the statements given above islare

correct Y

{al 1only

ib) land2

el Zand3

(d) 3 only
KSPC-P-GSPO

5.

(41-A)

With reference to the Parliament of India,

consider the following statements ;

1.  Prorogation of a House by the President
of Indin docs not require the advice of
the Coaneil of Minjsters.

2,  Prorogation of n House is generally done
after the House is adjourned sine die
but there i no bar to the President of
India prorogating the House which is in
BESELON.

a. Diganlution of the Lok Sabha is done by
the Prezident of Imdia who, save in
excoptional circumstances. does s on
the advice of the Council of Ministers.

Which of the statements given above isfare

correct ¥

(o} 1only

(b} land2

fcd Z2andd

idi 3 only

Conzider the following statements :

Sratermernt-I

The European Parlisment approved The

Net-Zero Industry Act recently.,

Stotemeid-Ii ;

The European Union intends to achieve
carbon neatrality by 2040 and therefore aims
to develop all of its own clean technology by
that time.

Which one of the following is correct n
respect of the above statements 7

{a) Both Statemeni-1 and Statement-IT are
correct and Statement-Il  explains
Statement-1

{b) Both Statement-1 and Statement-I1 are
eorrect, but Statement-IT does mot explain
Statement-1

(¢l Statement-l iz corroct, but Statement-I1 iz
IneorTect

(d) Statement-l iz incorrect, but Statement-11
15 correct
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Congider tha following statements :

Staterment-I :

Recenily, Venesuelan has achieved a rapid
recovery . froom  its economic  erigis  and
succeeded in proventing ks people from
flesmgfemigrating to other countries,
Stectement-IT |

Veneguels has the world's largest oil reserves,

Which one of the following ia eorrect in
regpect of the above atatements 7

(a] Both Statement-l and Statement-II are
correct and  Statement-I1  explains
Statement-1

(b} Both Btatement-l and Statement-II are

correct, bul Statement-II does net
explain Statement-1

(¢) Statement-1 s correct, but Statement-I1
iz incorrect

(d) Statement-Iis incorrect, but Statement-11
18 correct

With reference to the Digital India Land
Reeorde Modernisation Programme, consider
the following statements

1, To implement the scheme, the Central
Government provides 100% funding.

2. Under the Scheme, Cadastral Maps are
digitised.

3. An initiative has been underiaken to
transhterate the Records of Rights rom
boeal language to any of the languages
recognized by the Constitution of India

Which of the statements given above are

correct T

(a) 1 andZ2only
(b} Z2and3only
fed  1and3only
(d) 1,2and3
KEPC-P.GSPO
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With reference to the ‘Pradhan Mantri
Surakehit Matritva Abhiyan', consider the
folloywing statements ;

1. Thiz schems pusrantess a minimum
package of antenatal care services to
women in their second and third
trimesters of pregnancy and six months
post-delivery health care service in any
government health facility.

2. Under this scheme, private sector
health cars providers of certain
specialities can volunteer to provide
services at nearby government health
facilities.

Which of the statements given sbove is'ere

correct 7

(a} 1only

(hy 2 anly

ey Both1 and 2
id} Neither 1 nor 2

With referonce to the Pradhan Mantri Shram
Yogi Maan-dhan (PM-8YM) Yojanna, consider
the following statements :

L.  The entry sge group for enrolment in
the scheme is 21 to 40 vears.

2. Age apecific contribution shall be made
by the beneficiary.

3.  Each subscriber under the scheme shall
receive & minimum pension of ¥ 3,000
per month after attaining the age of
60 years.

4. Family pension is spplicable to the
sponse and unmarried daughters:

Which of the stabements given above sflare
correct T

fa¥y 1,3 andd
b} 2 and 3 only
el 2only

) 1,2 andd
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